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Explain why there does not exist a list of six polynomials that is linearly

independent in P4 (F).
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7 Prove or give a counterexample: If v{.v,,v3.v4 1s a basis of V' and U
is a subspace of V such that vi,v, € U and v3 ¢ U and v4 ¢ U, then
V1. Vo 1S a basis of U.
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e Y con Le sFameo\ Lag Vi, Uy | U;“DL.

6 (a) LetU = {p e Py(F): p(2) = p(5)}. Find a basis of U.
(b)  Extend the basis in part (a) to a basis of P4(F).
(¢)  Find a subspace W of P4(F) such that P4(F) = U & W.

Glutinn. (). ¥ AE T Lt ) = 40— P2 =pD)-H6),
than  $D=8)=0 = 3 k0 = ax+bx+Ce P (P,
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this we fwe 1J= SFMMI(H) (5), X (0)(5) , )(xs) | 1}
b ). | Tt seffices & fud & o ¢ R(F), such thot

4a), K (5), xlwa) (es) ) ()05) , 1 are  ln. indegt
Obuiossly, 4y = X & T and satisfies b tudepee
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